
 Practice Quiz 7 
(no calculators or tables allowed) 

 
In the following problems you should used the Fourier transform and inverse transform 
integrals: 
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Don’t guess, manipulate the integrals! 
 
1) If  )( ) (x t X ω↔ , then (x t )α β−  will have Fourier transform 
 
a) ( )Xα ω     b) ( ) jX e βωα ω    c) ( ) jX e βωα ω −    d) none of these 
 
 
 

2) If  )( ) (x t X ω↔ , then  ( )d x t
dt

 will have Fourier transform 

a) ( )d X
d

ω
ω

    b) ( )j Xω ω    c) ( )j Xω ω−    d) none of these 

 
 
 
3) If  )( ) (x t X ω↔ , then  will have Fourier transform ( )tx t

a) ( )d X
d

ω
ω

   b) ( )dj X
d

ω
ω

   c) ( )dj X
d

ω
ω

−    d) none of these 

 
 
 
4) If  )( ) (x t X ω↔ , then ( )x tα  for 0α >  will have Fourier transform 

a)  X ω
α
⎛
⎜
⎝ ⎠

⎞
⎟ )  b) (X αω    c) 1 X ω

α α
⎛ ⎞
⎜ ⎟
⎝ ⎠

   d) X ωα
α
⎛ ⎞
⎜ ⎟
⎝ ⎠

   e) none of these 

 
 
 
5) If )( ) (x t X ω↔ , then ( ) j tx t e β−  will have Fourier transform 
a) )( j teX βω −    b) )(X ω β+    c) )(X ω β−    d) none of these 
 
 
 
 



6) If ( ) 2 ( 3)x t tδ= + , then ( )X ω  is 
a) 32 je ω    b)    c) 3 ( )2 je u tω 3 ( )2 je uω ω   d) 32 je ω−    e) none of these 
 
 
 
7) If  ( ) 3 ( 2)X ω δ ω= − , then ( )x t is 

a) 23 j te       b)  23
2

j te
π

     c) 2

2
( )3 j tue t

π
   d) 23

2
j te

π
−    e) none of these 

 
 
 

8) If c( ) sin TX ωω
π

⎛= ⎜
⎝ ⎠

⎞
⎟ , the first nulls (zero points) are at 

 

a) 1ω = ±   b) 
T
πω = ±      c) 0ω =       d)  Tω

π
= ±       e) none of these 

 
 
 
 
9) If ( ) cos(2 )x t A t= , )(X ω  will be nonzero  
 
a) for all ω    b) at all 2kω = ,  an integer  c)  k 2ω =    d)  2ω = ±  
 
 
 
 
10) If we have the transfer function 

1( )
( 2)( 20)

H s
s s

=
+ +

 

the bandwidth of the system is  
 
a) 2 Hz   b) 20 Hz   c) 2 rad/sec   d) 20 rad/sec   e) none of thes 
 
 
  
 
 
 
 
 
 
 
Answers:    1) c  2) b  3) b  4) c   5) b  6) a  7) b  8) b  9) d  10) c 


